Booklet Serial No, : U 598

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO 80

TEST BOOKLET
AP (COMMERCE) (CC) 2015

Time Alluwed @ 2 Hours| [Maximum Marks ; 100

All questiony earry equal marks. :

10.

INSTRUCTIONS :
Immediately affer the commeneement, of Lhe: examination, you shovld check that test bookiet
does not have any unprinted or torn or missing pageb or items, ete. If so, get it replaced
by a complete test booklet.
Tn vase of any diserepancy found in Fnglish and Hindi Version in this paper, the Fnglish
Version may be treated as correct and final
Write your Koll Number only in the box provided alongside.
Do not write anvthing else on the Test Booklel.
This Test Booklet containg 100 items (questions). Each item comprises four responses
{answers). Choose only one respemse for each itom, which you consider the best,
After the candidate has read cach item in Lhe Test Booklet and decided which of the given
responses is correct or the best, he has W nark the cirele containing the letter of the
selected response by blackening it completely with Black or Blue ball pen. In the foliowing
example, response “C” is so marked -

® ® @ ©

Do the encoding carefully as given in the illustrations. While envoding your parficulars
or marking the anewers on answer sheet, you should blacken the vircly eorrespending Lo
the choies in full and no part of the circle should be left undilled.

You haye t niark all your responses ONLY on the ANSWER SHEET separately given
aecording to INSTRUCTIONS FOR CANDIDATES already supphied Lo you. Responses mutrked
un the Test Bookler or in any poper other than the answer sheet shadl nwt be éxamined.
All items carry cqual marks. Attempt all ilems. Your total marks will depend only on
the number of vorreel responses marked by you in the Anwwer Sheet, There will be no
negative marking.

Before you proceed to mark responses in the Answer Sheet fill in Lhe particulars in the
front portion of the Answer Sheet as per the instructions sent 0 you.

After you have -completed the test, hand pver the Answer Sheet only to the Invigilator.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED Y0 DO S0

PO,



AP (COMMERCE) (CC) 2015

Time Allowed : 2 Hours] [Maximum Marks : 100
1, The GDP is the money value of all the final goods and scrvices produced

in the ......... territory of & country in an years Lime,
(A) Foreign |

(B) Domesgtic

() Neither foreign nor the domestic

(D) Political

2. Which one of the following cannot be included under the Clonsumer

rights 7

(A) Right against explbitation by unfair trade practices

{B) Right to be heard if there is any grievance or suggestions
(C) Right to gel the genuine grievances redressed

(D) Right to choose the worst from a variety of offers

3. Which one of the following is net indicator of market potential un the basis

of Demographic charscteristics ?

(A) 8ize of population {B) Rate of population growth
(C) Population density (D) Dominan{ values

4, The present Companies Act, 1956 came Into force on ..o 1956.
(A) 1st April | (:B) 1st June
(C) 1st Deec. (D) st July
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5. Which of the following is restrictive business practices selected by competitive

law 7
(A) Price ?ixing (B)  Restraint of output
(C) Market allocation (Y ANl of these
B. Which of the following is not an example of Money IMcz':lsurement

Concept ?
(A) Raw material Rs. 5,000 lnss.by thief
(B} Labour Management relation
(C) Sales Promotion Policy
(D} Both (B) and (C)
7. Which one of the equations is a correct ?
(A} Tolal Assets = Current Liabilities
(B) Total Assets = Long-term Liabilities
{Cy Total Assets = Fixed Assels
(D) Total Assets = Total Liabilities + Ownor's equity

&. If the total assets of a company amount Lo Rs, L,50,000 and owner's equity

15 Rs. 70,000, the amount of liabilities will he -
(A) Rs. 70,000 (B) Ra. 80,000

(C) Rs. 90,000 (DY Rs. 1,00,000
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9. Which one of the following is not part of Partnership Firm's goodwill ?
(A) Tnstitutional Goodwill
(B) Personal Coodwill
(C) Goodwill Related to (Casual event
(D) TImplied Goodwill

10. The Profit Ratio of &, B. O, who are parlners in a firm is 4 : 3 12, After

D is admitted, Their sacrificing ratio will be -
(A) Equal (Ry 4:3:2
() g:2:1 D B:3:2

11. Which of the following is nol include in caleulation of purchase

consideration ?

(A) Net Assets Method {B) Payment Method
(C) Lump Sum Method (D) None of these

- 12.  Accounting Standard-14 is related with -

(A) Amalgamation (B) Valuation of stock
() Depreciation Accounting (I} Valuation of Assets
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13. Which one of the following is not the way of Internal Reconstructiion
{A) By Alteration in Share Capital of Company
(B) By Reducticn in Share Capital
(C) By Agreement with Companies Créditors
(1) By Sale of Assets
14, Long-term solvency is indicated by :
(A) Rate of Return (B) Liquid Ratio
(C) Debt Equity Rativ (D) Capital Gearing Ratio
15. Which of the following will resull in llow of funds 7
(A) Appreciation in value of buildings
(B) Depreciation of assets
(C) Purchase of fumif_ure
(D) Writing off geodwill
16. Contribution is :
(A} Bales—Total Cost (B) Sales—Variable Cost

(C) Sales—Fixed Cost (D) None of these
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17. Which one of the following ratio is not included under the Budgetary Control

Ratio ¥
(A) Activity Ratio (B} Capacity Ratio
(C} Productivity Ratio (D) Cash Ratio

18, Discount allowed on issue of sﬁares is an example of
(A) Capital Expenditure
(B) Revenue Expenditure
(C) Deferred Revenue Expenditure
(D) All of the above

18.  Which onc of the {ollowing iz not the objective of meonstarsy policy in

India ?
(A) To accelerate economic development
(B) To achicve price stability
- {C) To regulate forecign trade
(13} To stabilize exchange rate

20. With which of the following is the doctrine of excess capacmts = the long-

run nof associated ?
(A) Monocpoly {B) Oligopoly
(C) Monopolistic competition (D) Perfect competiton

AP{CommereeCC)—2015 10



17. Frefafien omoe § § PR @ 99Ed fREm sgem @ qen wfte W ¥ 7
(A) Framfiem smqom (B) &WAl E
(C) Toe®Ea IR (D) e ST
18. @isit ®1 friE W g e wmRw 2
@) P =
(B) TSRE =19
() sTfig o o
@ T
19,  Frfefiad 4 3 S ww FoAE A ow owm o E 2
(A) fls faem o @ @3 & fOQ .
(B) Tea oo o @ & fau
(©) faeuit =mwr = f@fEife & &
D) fofma & & 2R F30 & foe
90. Trofafes & @9 a9 § sl som & fasa 48 81 g ¥ 7
(A) THITURN (B) STAiE®r

(C) Uerrber Wi @) 9o gl

AP(Commerce)(CC)—2015 I1 P.T.O.



21.

23.

24.

PAUL M SWEEZY used kinked demand curve to explain :

(A) Price determination in oligopoly

(B) Price rigidity in oligopoly

(C) Profit maximization in oligopoly

(D) Price output determinuation oligopoly

The difference between the export and import of services is called @
(A) Balance of Trade (B) Balance of invisibles

(C) Balance of Current Account (D) Balance of Capital Account
In case of perfect substitutes, indifference curve is :

{A) right-angled (B) lincar upward sloping

{C) linear downward sloping () concave to origin

A ridgeline is a locus of such points where marginal productivity of a factor

input 18 !
(4) Equal to zero . (B) Greater than zero
(C) Negative (DY Equal to one

AP(Commerce} CCH—2015 12
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How many yeurs will it tuke for meney to double when interest ig compounded

annuaily at 7% 2
(A) 8.24 years {B) 524 years
(C} 10.24 years M) 7.24 years
Z28. The sum of squared deviation is the Jeast when taken from -
(&) Mode (B) Modian
() Arithmetic mean (D) Geometric mean
27, If for a sample d»;tg ' Mean < Median < Mode, then the distribution ig ;
(A) skewed to the right
(B} svmmelric
(G sk'ewe.d te the left
) ncither symmetric nor skewed

28.  TMistogram is useful to determine graphically the value of :

(A) Arithmetic mean (B) Median
(C) Mode (D} Nono of these

AP(CommerceCC—2015 14
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29. If both the regression coefficients are negative, the correlation coefficies

would be ;
(A) Negative (B) Positive
(€Y Zero (D) None of these

30.  Which principle of management emphasizes replacement of rule of thuui

method 7 '

(A) Decision theory

{B) Administrative theory

(C) Scientific management theory
(D) Contingency theory

31.  Which of the following is nof an element of planning ?

(&) Programme (B) Procedure
(C) Poliey (D) Information
32.  'Organisation is foundation of management.” Who said it ?
(A) Henry Ford (B) H.R. Haney
(C) Kiling (I)). Lansbery Fish

AP(Commerce}(CCY—2015 16
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33, Matrix organization is @
{A) A monolithic fumetionalized organization
(B} A consultalive natu r'e' '
{C) One where a project is sssigned to a project 'l'xi:;ii';_’

(D} One where project manager and others are of so=o o zkills and

expertise
34. Graicuna’s na_me’s- linked with :
(A) Delegation of authority (B} Span of conim
(¢) Unity of commang (D} None of these

a5 Sub-dividation marketing is called as :

(4) MMarket segmentation (BY Only segmenzz== ~
() Decision of market () -Allocation of me—e=772

36, The marketing concept invelves :

(&) Customer Orientation (B) Competition Omestsom

(C) Organisation Integration (D) All of these

AP(Commeree(CC)—2014 1%
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37. The promotion mix invoelves to :

(A} Advertising (B) Personal selling
(C) Sales promotion : (D) All of these
38.  Bales forecasting is a method of estimating ........... volurme that a company

can expect to attain within plan period.
(&) Rales i (B) Purchases
{C) Product (D) Product or Service

39. Retailing consists of these activitics involved in selling dircctly to

ultimate :
(A) Consumer (B) Firm
(C) Agents (D) Wholesaler

40.  Product based organizations are divided into units that specialize in mar-

keting certain products or types of :

- (AY Product (B} Service

(C) Firm (D) Channel

AP{Commerce {CC1—2015 20
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41. The provision of funds is essential for meeting the various requirements

of :
(&) Marketing . (B) Pricing
(C) Transportation (D} All of these

42, Which of the following is not discount policy ?
(A) Discount cash pelicy (B) Trade discount policy
(C) Quantity discount policy (D) All of these
43. Which is not included under type of leverage ?
(A) Financial leverage (B) Operating leverage
() Administrative leverage (D) None of these
44, Profit ﬂuctuationg occurring due to high fixed cost are referred to as .
(A) Operating leverage (B} Operating rigk

(C) Financial leverage (D) None of these
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45.  Feonomic life of a plant ig 8 years and il$ costs are Rs. 2.00,000. Ann

savings (cash inflow) is Ra. 1,00,000. Hence Post Pay Back Profit wo

be :
(&) 2.,50,000 (B) 4,50,000
(C) 3,00,000 (I 2,060,000

46.  The proportion of equity share capital to the total capital of the firm is koot

as gear ratio or !
(A} Capital gearing ratio (B) Capital ratio
(C) Quick ratio (D) All of these

47.  Given : Current agsels = Rs, 60,000, Current liabilities = Rs. 40,000, wha

will be working capital ?

(&) Rs. 20,000 (B) Rs. 60,000

(C) Rs. 40,000 (M Rs. 1,00,000
48. External short term congists :

(A) Trade credit {B) Credit papers

(C) Bank credit (D) All of these

AP(Commerce)(CC)—2015 24
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-49.

50.

The rate of dividend of preference share is decided at the time of :
(A Issue {B) Redeemable

(C) Payment (D} Dissolution of company

-

When a company has surplus reserves but does not have adequate liguidity

then the company capitalizes its reserves and distributes these reserves

as :
(A) Equity share \ (B) Preference share

(C) Debt (D) Bonus share
Compensation Management consists of :

(4) Job Evaluation

(B) Wages and Salary Administration

(C) Fringe Benefits

(M) Al of the above

‘Qn the job tfaining’ can be provided through :

(A) Distance education (B) Mobile teacher

(¢} Non-formal education (D) All of these

AP(Commerce)(CC)—2015 2(5
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04,

56.

a7l.

The Industrial Employment (Standing orders) Aet was enacted n :
(4) 1950 (B) 1946
{C) 1947 (D) 1980

The ecareer planning and developmont process is also part of comprehensive

organization development |

(A) [I’rocess {B) Communication
(C) Project (DY Firm .

The concept of wages is :

(A) Minimum wages (B} Fair wages
() Living wages (D) All of these
When introduced Bankiﬁg Companies Act 7

(A) 1980 {B) 1960

(C) 1949 | (D) 1870

Bank deposits are of two types which are :

(A} Temand deposits (B} Time deposits

(C) (A) and (B) both (D) None of these
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s The Schedule-8 of Banking Act inclides
(A) Government Securities (B} Debenture
(C) Shares ) M) All of thesc

59,  The Reserve Bank of India manages the public debt and i3 responsible for

the issue of new loans and Treasury bills of the :
(A) Central Govcmni'ent (B} State Government
() President of Ind.ia {i)') None of these
80. Industrial Development Rank in India (IDBI) was set up in °
(A) dJuly, 1964 (].3) June, 1964
(C) August, ].96;1 (D) None of these
1. SDRs are issued by :
(A) International bfonetary Fund
(B) World Bank
(C) Reserve Bank of India

(D} - International Financial Corporation

AP(Commerce)(CC)—QOIF) 30
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62. Exchanger who operated internationally, engaged in .
(A} Bill broking
{R) Raising forcign exchange
() Provision of long-term capital for public borrowers
(D) All of the above
63. Advancing loans inclades :
{A) Overdraft (B) Cash credit
(C) Discounting trade bills (D} All of these
64. NABARD was set up under :
{A) The Indian Companies Act, 1956
(B) The Banking Regulation Act, 1949
(¢} The Act of Parliament
{I) The Beserve Bank of India Act, 19335
65. Which of the following is not the items of Cuwrrent Aceount ?
(A) Trade balance {B) Private transfers

' (C) Investment income (D) Amortisation
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66,

87,

69,

70.

World Bank provides loan to the mesmber country :

(A) From own funds (B) From Borrowings
() By Guarantee (3 All of these
GATT came into foreg on °

(A) 1947 (B) 1949

() 1959 M) 1056

A direct investment ig one that gives the investor a controlling intcrest n

A company !
(A} Foreign Company | (B) Domestic Company
(C) Multinational Company {N) None of these

The rights and liabilities of members of the Joint Hindu Family business ure

governed by :
(A) The Partnership Act (B) The Hindu Law and Customs
() The Contract Act (1M  All of these

Commuon-size income statements present the various items ag a percentage

of :
(A) IPurchases (B) Sales
{C) Assets (I3 Liabilities
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B7.

69.
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T2.

Ratio of net profit afler tax and preference shares dividend to number of equity

ghares is known as :

(&) Solvency Ratio (B} Overall Profitability Ratio
(¢)) Financial Position Ratio (D} - Earnings per share

The tecently imposed ‘Minimum Alternate Tax’ is applicable on :
(A) Scle proprietary firms (B) Partnership firms

L'Ci Companies (I Co-operative sorieties

Iricome left over after an individual pays taxes and purchases the basic

necessities of food, clothing and shelter 1s called -

(&) dispogable income (B) taxable income

(C) accounting income (D) diseretionary income
Which of the following must hold a statutory meeting 7

(A) Statutory Companies (B} Private Limited Companies
() Public Limited Companies (D} Chartered Co;mpanies

The minimum subscription specified in the prospectus must be TECeIVE

within @
(A) 90 days (B) 120 days
(€) 130 days (D) 60 days
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() fadm feuf i () Wt A e
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7.

78.

79.

80.

Whiéh of the following is not correct 7

(A} Minor can always plead minority

(B) Minor is liable for necessaries supplied to him

(C) Minor is a person who Bas not completed 18 years of age

(D) Minor can be a beneficiary

The property in the goods means et
(A) Possession of g_ood'sl (B} Custody of goods
() Ownership of goods (I} Both (A) and {B)

When after the formation of a valid confract, an event happens which makes

the performance of contract'im;mssi_ble, and then the contract becomes ........
(A) Void - (B) Voidable
(C) Valid M) IMegal

Gioods must be the same as wanted by the geller. This is !
(A} Condition ag to description (B) Condition a8 to sample
(C) Condition as to wholesomeness (1)} Condition az to title

Where the consent of both the parties is given by mistake,' the contract

1 e 1
(&) void (B) valid
(1) wvoidable . (D) illegal
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81. In which distriet of Himachal Pradesh 1s Ghadasru lake ?

{AY Shimla (B) Kinnaur
(C) Lahaul-spiti (D} Chamba

39. Which one of the following bridges is on the Swan stream ?
(A} Rakh ’ (B) Sutaun
(C) Jhalera (I} Dera Gopipur

83. How much money has been recommended by the Fourth Himachal Pradesh
Finance Commission for the Panchayali Raj Institutions and Urban Tocal

Bodies for 2012-17 period 7

(A) 622,60 crore rupees (B) 85896 crore rupess
() 934.14 crore rupecs (D} Y76.47 erore rupees

84 TRuler of which hill state was a Brahaman by birth but became a Rajput after

becoming raja 7
{A) Nurpur - (B) Keonthal
() Kutlehar (D) Kumarsain

85.  Who led the upriging against the raja of Mandi in 1909 during which Wazir

and other officials were capfurod and jailed ?
(A) Mian Jawabar Singh (R} Swami Krishna Nand

(C} Shobha Ram (D) Mathroo Dass
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82.

&3,

84,

85.
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86.

B87.

88.

89,

90,

Where is Devil Danee mostly in vogue ?
(Al Lahaul-spiti and Kinnaur

(B) Shimla and Sirmaur

(C) Chamba and Kangra

(D) Bolan and Bilaspur

To which village of Hamirpur Distriet did Jamadar Lala, who won victoria
cross during the First World War, 1914-18, helong ?

(A) Kalyal (B) Mahal Morian
(C) Dera Paral ; LD Galore

Why was Neri school of Mandi District in news recently 7
(A) Land slide in which the school building eollapsed
(B) For caste divide during the mid-day meal

(C} For some mysterious disecase to the students

(D} For poer performance of the students in examination
Which goddess is called Latan Wali ?

(A) Naina Devi (B} Chintpurni

(C) Jwalamukhi (D Chamunda Devi
Which temple is found in Bakhari village in Karsog region :
(A} TRijii Mahadey (B) Mahunag

(C} Kawrunag {D) Hurang Narain
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91.

0Z.

93.

o4,

95.

Who is the aunthor of One Life is Not Enough ?

(A) Vivekanand (B) Salman Rushdie

(C) Natwar Singh () Katherin Mayo
With which game is Roger Foderer assocated ? '

(A) Cricket | (B) Hockey

() Football '(D) Tennis

In recently held referendum in Scotland approximately whal percentage voted
for Union with England ?

(A) 5190 oL (B) 55.00
(€) 83.70 (D) 6h.208

Which countries are partners in BOTM corridore proejet which seeks to connect

Kolkata, Dacea, Mandley and Kunming ?

(A) Bangladesh, China, Indonestia, Maldives

(B) Bhutan, China, India, Malaysia

(C) Bangladesh, China, India, Myanmar

(D) Bhutan, Ching, India and Maldives

Which country led the March Past at the opening ceremony of 2014 Asian

(Games 7
(A} China (B) Korea
(CC) Nepal | (1)) India
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96. In which country is the Headqua@r of INTERPOL ?
(A) France (B) Germany
(C) Italy . (D) Belgium

97. Which is the lightest g;ls ?
{A) Carbon dioxide (B) Hydrogen
(C) Oxygen | (1) Nitrogen

98. What is the currency of Japan ?-
(A) Won (B) Som
{(C) Yuan (D) Yen

99. Which is the longest day in the southern hemisphere ?
(A) March 21 - (B) June 21
(C) September 23 (D) December 23

100. Which among the following is at the top in Humsan Development Report, 2014

of UNDFP ?
(A) Netherland (B) Switzerland
(C} Norway (D} Australia
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